AN 6 A REPIEAT E R ORIR S A R FHIE TR (2 %5) o

1 METPHEERH ST 3 A12H
2 T H OB M
(HA7 : TH)
= &t X i IE K YHITE | WERIOfE | ARESE | MiERO
[E] P R OR PR S 26 B =5 25 863, 000 863,399 A 96,543 766, 856
3 ¥ B O =
(e¥E32)
W R e | (A7 - THD
V7 A =7 H
2% EXHE A 85 433| 1% |#aikE A 6,700
JEAHBh 4> — A R
(PRBRAG AT B34 (st 4) ) A 85,433 (:3=PN(Z-9) A 6,700
iR fEAE A 11, 110| 2z |[R[&HA{TE A 85,433
YN FAHE
(— I EFHRA L) A 11,110 (RFRATEE) A 85,433
5% A HE A 4,410
A
G JE oy PR R AR A 2 S5 58 F ) 170
([ RAFEARB RS E R LSRRI EE) A 4, 580
mASE A 96, 543 mHEET A 96,543




TG LEFE 3 HMERH TRER

(F¥E—E)
[ E R R E R =5 ] (BA7 : FH)
Nol i - 35 - M | sk R *
H X i ZDfh —HRIR
L| —MEEE | BN R A 6,700 A 6,700
111 Fakk, HLEE
Tk B D2 FHRINC K 5 K B K ONRIIC A S AELE.,
[ % & 1
HHIE% 13, 829FF — i IERT18, 729FF] = A4, 900FF
HHIER%6, 176 T H — 4l ER17, 976 T-F = A1, 800 T
2 | FAEGE T |RESOFEE #RuE| A 85,433 A 85,433
2.1.1 BHHSAIB) K O 4
FafH SR K OVA 15 DG RIATAT X 2 WA TE,
[ % & 1]
T IE#£480, 256 T-F — #i IER(T565, 689 T = A85, 433 T
3| M R RS SRR R R 170 170
5.1.1 EEER T R OEIS R
AN 5 AT 5y D AL [ EREERE (R BR R R 1o 2 5 28 o
& (@A r4) OEBBEICLVIEEENETLI L
12 & 2 BaEEAHE,
i %5 ]
MHIER 5707 M —#HIERT 400TM= 170TH
4| BB | R ARG 5 2% S ST EA Y S SR N e A 4,580 A 4,580
5.1.1 L4
RIS AE 5 TS A O IAER IE
[ 5 & 1]
WHIER% 57T —4H1ERT 4,637 T M= A4, 580F
R B A 96,543 0 A 85,433 0 A 11,110
fie R 2 - Jife P 0 0 0 0 0
& il A 96,543 0 A 85,433 0 A 11,110




